CorkSport MX-3 Front Bumper Install instructions

Tools Required

e Y and 3/8 Drive Ratchets Phillips Head Screwdriver

¢ ~.8mm Socket and/or Wrench e ' _Floor Jack
e 10mm Socket and/or Wrench e Jack Stands
Contents
e CorkSport Front Bumper e 2 “U” Shaped Metal Brackets
e 11 Page Install Instructions e 2 M6 x1.00 Thread Bolts and
e 2 M4 x.70 Thread Bolts and Lock Lock Nuts
Nuts e 2 Philips Large Head Screws

CorkSport recommends this bumper be installed-by a professional auto body shop that
has experience in aftermarket components. Ifyou wish to install the bumper yourself we
have included this set of instructions to help the Do-It-Yourselfer install the CorkSport
bumper. Proceed at your.own risk.

TIP: CorkSport recommends that you test fit the bumper before installation and painting
to make sure the bumper fits properly.

Thank you for your purchase. If you have any questions please call Cork Sport at 360 260 CORK



NOTE: Installation of the CorkSport Mx3 bumper removes the mounting location for the
side marker lights. Check with your local laws to make sure you car is legal-for road
use after installation.

Step 1: Remove two (2) 10mm head bolts from bumper brackets to core support.

Step2: Remove two (2) 10mm head nuts from brackets on the back side of the grill.

Step 3:'Remove two (2) Philips head screws from corner of each marker light.
Disconnect lights bulbs and remove marker lights.

Pictures Continued on Next Page

Thank you for your purchase. If you have any questions please call Cork Sport at 360 260 CORK



Step 4: Remove two (2) 8mm/Philips head screws from inside of marker light holes in
bumper.

DANGER: Follow instructions that came with your jack/stands. Death and
or significant property damage could result if you do not.

Step 5: Jack up front of vehicle and place securely on jack stands.

Step 6: Remove three (3) plastic clips from inside of main bumper opening.

Pictures Continued On Next Page

Thank you for your purchase. If you have any questions please call Cork Sport at 360 260 CORK



Step 6: Remove one (1) 8mm Philips head screw from fender liners to bumper support
bracket on both sides of MX-3.

Step 7: Remove two (2) 8mm/Phillips head screws from-inner fender liner to vehicle on
both sides of MX-3.

Thank you for your purchase. If you have any questions please call Cork Sport at 360 260 CORK



Step 8:'With fender liner pulled back towards wheel, remove two (2) 10mm head nuts
from bumper support to bumper. (one on each side).

Step 9: Unplug side marker lights from both sides of bumper.

Step 10: Remove two (2) Philips head screws from corners of bumper to fender. Remove
bumper from vehicle.

Thank you for your purchase. If you have any questions please call Cork Sport at 360 260 CORK



Step 11: With bumper removed from vehicle; remove two (2) plastic clips from side
bumper brackets and 4 8mm head nuts from back of grill area. Remove the
brackets from bumper

Step 12: Using original four (4) 8mm head.nuts, place bracket on grill area of CorkSport
bumper and tighten nuts.

Step 13: Install side brackets to CorkSport bumper and secure with original plastic clips.

Thank you for your purchase. If you have any questions please call Cork Sport at 360 260 CORK



Step 14: Place marker light wires through marker light holes in CorkSport bumper.and
position bumper onta vehicle.

Step 15: Install the two supplied large head Philips head screws into marker light
location. You will need to.secure the side marker light wiring by using-a wire tie
or similar from coming loeose and falling under the car after the Philips screws are
installed.

Step 16: Reconnect marker lights and install them into the bumper using the original
Philips head screws.

Step 17: Install original two (2) 10mm head nuts onto bracket on back of grill and
tighten.

Thank you for your purchase. If you have any questions please call Cork Sport at 360 260 CORK



Step 18: Install original 2 10mm head bolts.through bumper brackets to core support.

Step 19: Install three (3) original plastic clips into main opening of bumper.

Step 20: With fender liner pulled back towards wheel, reinstall two (2) 10mm-head nuts
to the bumper support-brackets on the back side of bumper.

Thank you for your purchase. If you have any questions please call Cork Sport at 360 260 CORK



24

A0
K??aﬂ aﬂr (O

oR
tep ﬁszelnstaII two (2) original Philips %Kr?fginto corners of bumper to fend aﬂr
5P oﬂ\'é - omf ’6 @/ORK;P
ARK? |
¢OF

(7P Or ¢
Step 22: Reinstall d@@ﬁiner and bumper support brackeﬁﬁ eQJ ing the supplied Rﬂ
u haped bracket with the supplied M4 nut@r@ the bracket and the M6 RI(??O
/ o

? ut and bolt to the bumper.

9
orK Y
(/ @ORK? g’(?? aﬂr

KT
o (0 KPP g
| R 9?@ ou for your purchase. If you have anyﬂum‘fons plésgaf Cork Sport at 360 260 CORK @ OKK 9? o

5P0 |
:ﬂf / KK 7 aRK7P Oﬂr

oy L.?C



L V {9 A0
- | gl(??am T ad
o ﬂstep ﬁQelnstall inner fender liners Wlt@h 5%Kiaﬁ|9mm/Phillips head boIts.K9P oﬂr
~rKP
¢OF

Remove vehic jack s%mds and enjoy the new look of )@!@mgwith the

CorkSport front bumper. ﬂf ¢ ORK?’

gr
(0 ~rK9PO g
K ??@&Lﬁor your purchase. If you have anyﬂuﬂﬁons pléégaf Cork Sport at 360 260 CORK @ oRK 9?0

4P0
ﬂr / RK 7 DRKé? Oﬂr

oy L-?C



	UTools Required
	UContents

